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Operation:

"Enable operation" (STWA.03)

Stop: "Stop" (r6220.14)

Synch: "Synchronize" (STWA_GL.8)

Start: "n_act = start speed"

n=0: "n_act=0"

Encoder: "Drive with speed encoder"

EXC=0ON: "Excitation is ready for operation or in operation"
EXC=enable: "Excitation current enabled"

EmergMode:

Status < 50 w
ON/OFF1

@SWAO) | o

NoSubsystem1: "No fault subsystem 1"
NoSubsystem2: "No fault subsystem 2"

"Emergency mode present”

STWA .xx = control word, sequencer, bit xx (r0898) [2501]
ZSAW .xx = status word, sequencer, bit xx (r0899) [2503]
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